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Vi B u = i ® | oy =
1] IEBEEFRS 7| 26| 1051 | 365 90 347 1| iEBEERE 7| 26 17 6 2 35.3
2 | PEERAE 7| 26| 1046 | 352 66 33.7 2 | Bk 71 26 30 7 4 233
3 | HiEHERE 71 25| 1097 | 362 7 33.0 3 | HiEFhk 71 25 5 1 1 20.0
4| BEBEEKRS 7| 25| 1105 | 352 42 31.9 4| FHEA= 7| 26 31 5 5 16.1
5 | K 7] 26| 944 | 294 116 31.1 5 | mIEASEMNKGS 7| 26 26 4 6 15.4
6 | BEEASEMZES 7| 26| 1173 | 324 69 27.6 6 | BILLPEKXS 7| 24 18 1 1 56
7| EBRXE 7| 26| 1042 | 278 90 26.7 7 | hERFRRAZ 7| 26 1 0 0 0.0
8 | BlLx2EXS 70 24| 974 | 224 69 23.0 8 | BEEELEKAS 7| 25 8 0 3 0.0
T By PTEF (%) =131+ FTH X 100 YT By PRGEF(%) =15+ FTH X 100
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9 # % x g1l Y > B 8

1| IBEEEAE 7| 26| 1051| 347|359 6| 365 1| mmes 7 25 49 1.96
2| miEspe 7| 25| 1097| 330 361 11 362 2 | wmEASENGE 7 26 36 1.38
3| chifepeiss 7| 26| 1046| 337|352| O 352 3| hipepeiss 7 26 33 127
4| BEBREEASE 7| 25| 1105 319|352 0 352 4| EEA 7 26 28 1.08
5| wamksriMgal 7| 26| 1173 276 320 4| 324 5| IEREAS 7 26 26 1.00
6| A= 7| 26| 944| 311|287 7| 294 6 | FBILLEEAE 7 24 24 1.00
7| Bk 7| 26| 1042 267|273 5 278 1| aHRELRY 7 25 20 0.80
8| BlLaEEA 7| 24| 974 230] 223 11 224 8| A= 7 26 20 0.77
T B PRIERFAR) =155 Ty REARB(1 ey hHTzh  AR) =148 o Mk
BH—JHRE BY—JL —TJRINE

9 | o F| A = 9 W o% %
1| IEBEFRE 7| 26| 584| 10| 25| 284/ 35| 173 1| BEBEERY 7| 25| 446| 259 | 187 58.1
2 | BlLkrEEXY 7| 24| 434 3| 21218/ 18| 17.1 2 | IEERERE 7| 26| 481| 278 | 203 57.8
3 | hifZpE R 7| 26| 604| 8| 41|225/ 29| 16.1 3 | EiEP 7| 25| 425| 241| 184 56.7
4 | B 7| 26| 468| 11| 23| 182 48| 16.0 4 | thifepfR R 7| 26| 471| 267| 204 56.7
5| AEBREERY 7| 25| 584| 10| 30| 222/ 32| 153 5| BEXFRERKE 7| 26| 538| 282| 256 52.4
6 | FiEFkE 7| 25| 581| 14| 21|230/ 30| 152 6 | HEILExZEXE 7| 24| 510 249 | 261 48.8
7| IFBXRE 7| 26| 479| 10| 17| 176] 34| 14.1 7| Bk 7| 26| 544| 236| 308 434
8 | BWEKXPEMIRS| 7| 26| 560 4| 18| 239| 29 14.0 8 | ERKE 7| 26| 552| 183 | 369 33.2
P—TRNER(%)=(/—FyF X 100+ =2 X 80+ ZhH X 25) + T4k P =T —T BN H(%) = H) + 55 X 100
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